





































Try it Absolute Value				
	Lemma 4.4.5			
	For all real numb	pers $r$ , $ -r  =$	<i>r</i>	
Suppose r is any real number. By Theorem T23 in Appendix A, if $r > 0$ , then $-r < 0$ , and if $r < 0$ , then $-r > 0$ . Thus				
	$ -r  = \begin{cases} -r \\ 0 \\ -(-r) \end{cases}$	if -r > 0 if $-r = 0$ if $-r < 0$	by definition of absolute value	
	$=\begin{cases} -r \\ 0 \\ r \end{cases}$	if -r > 0 if $-r = 0$ if $-r < 0$	because –(–r) = r by Theorem T4 in Appendix A	
	$=\begin{cases} -r\\ 0\\ r \end{cases}$	if r < 0 if $-r = 0$ if $r > 0$	because, by Theorem T24 in Appendix A, when $-r > 0$ , then $r < 0$ , when $-r < 0$ , then r > 0, and when $-r = 0$ , then $r = 0$	
	$=\begin{cases} r\\ -r \end{cases}$	$ \begin{array}{l} \text{if } r \geq 0 \\ \text{if } r < 0 \end{array} $	by reformatting the previous result	
	=  r		by definition of absolute value.	20

